Lecture 11
> clicker
-> clicker

More on proper time: proper time between two events is
the time as measured by a stationary clock present at both events

Then, in that clock's FoR,
INE X at= PROPER TIME
s?= eat)- (Ax)'= 2 (troreR TIME): > O
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What if we have an clock that does not move with constant speed?
---> need to break its trajectory into small pieces of approximately constant speed
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-> clicker question
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Hint: look in the frame of reference where C is stationary (picture)

For C, u=0 the whole time. For others, u is not zero, so

ArWer {1 =y (FSs PROPER Tumg

This makes sense: moving clocks run slow




Collisions, momentum and conservation of momentum
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Conservation of momentum: /\/\ LL - M Lj’ ! + m \/

Conservation of energy

rumblings of the universal computation machine.... \/
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